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Sub-Section Id: 393211183
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3932112017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let A= {x|x is a prime factor of 120} and B={y|y is the sum of any two prime factors of 120} . then

n[(AuB) n (A—B)] =2
Options :
1 & 1

o o 2

Question Number : 2 Question Id : 3932112018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let x be the universal set for sets A and B. If n(A) =208, n (B) =292 and n(4 n B) = 105, then

n(A"nB") =308, provided n(x) =2

Options :
| ® 618

> % 683
I ® 700

Question Number : 3 Question Id : 3932112019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
IetU= {x|lxeN,x =9} A= {x|xeN,x <4} B= {2x|xeN,x =4} andC = {3,45,6}. Then

(B—C) — (A UB) is the set:
Options :

. % {1,2,3,4)

w-u &1 3,5.6

- « {1,3,4,6}

. 3,469 P collegedunia



Question Number : 4 Question Id : 3932112020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
x
+x2

The range of the function f(x) = xeR, s

Options :

_{] 1]
L2

,_.
®

Question Number : 5 Question Id : 3932112021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If a function f satisfies f( x ) +4f (3 — x ) =5 x for all real numbers x , then f(3) =

Options :
1. % —3

2 o —1

Question Number : 6 Question Id : 3932112022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A function f is defined by f(x) = x + Z . Which of the following is true?

Options :

| [F00)? = £(:x2)
o [FOO12 = f(x®) + 1
2 v £ + 3600 = [f)]?

.
gcollegedunlas
India’s largest Student Review Platform



4 % 303)+£(x) = [f())°

Question Number : 7 Question Id : 3932112023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In A survey-of 68 students, it was found that 23 like tea but not coffee and 42 like ter. How many stedents like cofles bul
NOT tea?
Options :

Question Number : 8 Question Id : 3932112024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

5 5
Thevaiueof(l+ 2 Dfi)+ (30f5+ i)—(E+ B Df—) +(E>< i—: —) is:
g 3 g 3

5 5 3 4 6 3 4 =
Options :
4
1 6
9
o ® E

15

=z ® 16
4

Question Number : 9 Question Id : 3932112025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. gz 4 : 4 - : e
The hizhest soore 0 an NING Was 7 of the tofal and the next highest was = of the remaining, It these scores differ by

3 ;
32, then = of the total score is;

=

Options :

.
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4 # 66

Question Number : 10 Question Id : 3932112026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

; : o . . , ; s I
I'hree fractions are written in ascending order. When the smallest of the thres is divided by the greatest. the result is =

— : = i . g i 20
which iz greater than the middle fraction by " When the middle fraction is divided by the greatest, then 2y L8
!

obtalred. The greatest fraction is

Options :

,_.
®

W
®

4
5

| o

| L

ol oen

Question Number : 11 Question Id : 3932112027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The value of 0.4 + 0.7 — 3/0.037 is:

Options :

Question Number : 12 Question Id : 3932112028 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0 .
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(4.4)* +(1.6)* + (7.04)* s
(4.4)2 + (1.6)% —7.04 '

The value of

Options :
, ® 1276

> % 14.88

L
¥
[
L
L
(]

4 o 28.96

Question Number : 13 Question Id : 3932112029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
17 19

5 7 9
The valuveof —4+ —+ — 4 =+ + lies between:
36 144 400 5184 8100

Options :
1 % 0.1and 0.2

> o 0.2 and 0.3
z % 03and 04

4 % 0.4andO0.5

Question Number : 14 Question Id : 3932112030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
4 37—20W3+ (5 + Zu@) = (? + 4@) = a+ by/3. then the value of (a + b) is:

Options :
1 *® 1

2_%4
3 o 8

4 # 16

Question Number : 15 Question Id : 3932112031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The income of A 15 equal to 60%% that of B and the expenditure of A is equal to 50% of B's expenditure. If A's income i5
equal to B's expenditure, then by what percent is B's saving more than A's saving?

Options : g collegedunias
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Question Number : 16 Question Id : 3932112032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Anu sold an article at 14.2% loss. Had he sold it for ¥ 264 more, he would have gained 18.8%. To gain 16%, he should
have sald it for:
Options :
1 ® <870

> o T928
z % T974

4 % T986

Question Number : 17 Question Id : 3932112033 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A dealer gains [9% on the cost of an article when he allows 153% discount on its marked price, If the cost price of the
article increases by 1296, how much discount percent should he allow on the same marked price so as to eam the same
percentags of profie?

Options :

1 4.8

Question Number : 18 Question Id : 3932112034 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A certain sum is divided among A, B, C and D in such a way that the ratio of shares of A and B is 3 : 5, that of B and C
is 2 : 3 and that of C and D is S : 4. If the difference between the shares of A and C 15 ¥ 990, 1 .

, collegedunias
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;% 990
> % T1210
2 « T 1320

4 % T 1430

Question Number : 19 Question Id : 3932112035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A loan has to be returned in two equal annual installments. If the rate of interest is 16% per annum compounded
annually and each installment is ¥ 5887, then the total interest paid is:
Options :
1 ¥ T 2,324

> x T2,342

5 x 32432

4 Y2423

Question Number : 20 Question Id : 3932112036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A boat zoes 75 km downstream and 40 km upstream in 13 hours. It can go 9 km downstream and 4.5 km upstream in

1.5 hours. What is the speed {in km'h} of the boat when going downstream?
Options :
1.+ 15

Question Number : 21 Question Id : 3932112037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A solid metallic cube of edge 22 cm 15 melted and recast into spherical bullets each of 1 cm radivs. What is the ratio of

the tomal surface area of the cube o the il surface area of all the Bullars?

p | BT .
(Take it ==} gcollegedumag
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1, L
e 121k
3 % 3:11
4 % 4:13

Question Number : 22 Question Id : 3932112038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Ifx +y+z =2 xy+yz+zx =5, then the value of x* + y® + 23 — 3xyz is:

Options :
1. * 35

oo 38
ST ] 40

Question Number : 23 Question Id : 3932112039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A two-digit oumber is equal to 7 times the sum of its digits. The mumber obtained by interchanging the digits i 9 less
than the orizginal momber. The original mumber satisfies the equation:
Options :
| % x2—20x=22

> % x2—22x=20

. w VEFI0 =5

Ln

4 o x+4 =

Question Number : 24 Question Id : 3932112040 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If -5 is a root of the equation 2x” + px— 15 = 0. and the equation p(x* + x) + (k+ 1) = 0 has equal roots. then the
valuoe of k is;

Options :

,_.
#®
Ld| =

.
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Question Number : 25 Question Id : 3932112041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the sum of squares of the roots of the egeation X ={p+2x+ip+1)=0 {p s a real number = 1. then the value
of pis:

Options :

1.¢ -1

2_&3[}

Question Number : 26 Question Id : 3932112042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the number of common terms in the two arithmetic progressions:

13, 15,17 ........and 14, 17, 20, ......., if each progression has 100 terms?

Question Number : 27 Question Id : 3932112043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Oﬂl

If the sum of the first n terms of an arithmetic progression is 3n” + 2n, then the 100™ term of the nrogression is;

Options : collegedunias
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, % 603

> % 601
3 % 598
4« 599

Question Number : 28 Question Id : 3932112044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The sum of an infinite geometric progression (GP) s 4 and the swm of ecobes of lerms of the same GP s 192, What 15 the
sum of the first three rerms of the GP?

Options :

31
1 #% 2

.-:1__
g
3_%3
4 % 4

Question Number : 29 Question Id : 3932112045 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
When 30 13 subtracted from each of n mumbers x;,%; ... X, , then the sum of the resulting numbers is —1 0, When 46 is

mubtracted from each of ¥, %, .. %, . then the sum of the resufiing numbers is 70, What is the mean of x,, %5 ... %, 7

Options :
1 ® 48
o % 49
= o 49.5
4 ® 505

Question Number : 30 Question Id : 3932112046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Classes 0-10 10-20 20-30 30-40 40-50

Frequency | 12 X 6 7 9

If the mean of the data is 22. then the value of x is;
Options :
I _ 5

Question Number : 31 Question Id : 3932112047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let x be the median of the following data:

26,35,32, 24,23, 27, 36,29, 21,:33;
If 32 is replaced by 23 and 35 is replaced by 28, then the median of the data is v.
What is the value of |x — y|?

Options :
1 ® 2

[0
b
[
N

4. ¢ L3

Question Number : 32 Question Id : 3932112048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the sandard deviation of 1y, X2, T, 18 2.5, then what i the standard deviation of —3x, + 2, —3x. 4+ 2, —3x; + 2,

Iy | iy o

Options :
1 *® 7

4 % 9.5 gcollegeduniag



Question Number : 33 Question Id : 3932112049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the variance of 2x; —7, 2x, —7, 2x; —7,..,2x, — 7, is 36, then the variance of 3x,, 3x,,...,3x,, is

Options :
1 ® 63

o R 30
3. % 64

4.« 8l

Question Number : 34 Question Id : 3932112050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The mean deviation of the mumbers 12. 24, 16. 20. 15. 26. 13 about the median is:

Options :

—
€
=]

w
'S
~]

Question Number : 35 Question Id : 3932112051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Lzt A and B be two events such that PfA W B} = 0.8 and P{AN B) = 0.3 Then P(A") + P{B") = x . where A" and B
are complaments of A and B, respectively. The value of x is:

Options :

1. 0.9

- ® 0.8

SR ] 0.7

4% G0 gcollegedunias



Question Number : 36 Question Id : 3932112052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

tan @

The expression is equal to;

1—tan & 1—cotd
Options :
1 % 1—seclcosect

> « 1+ sec@ cosect
= % 1—sinfcost

4 # 1+ sinfcos6

Question Number : 37 Question Id : 3932112053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If 12 cot?8 — 31 cosecB + 32 = 0, then one of the values of tan @ is:

Options :

4
5

L oL

37
7

= o

*|g

Question Number : 38 Question Id : 3932112054 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
(sec 8 — cos #)(cosect — sin 8)(tan @ + cot &)

sin {1+ tan @) + cos 8(1 + cot @)

Solve the following: is equal to:

Options :
1 % sect — cosect

> % sec@ + cosect
sin@

= % 14 cotf gcollegedunias



cos @
4« 1 + cot@

Question Number : 39 Question Id : 3932112055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A person standing on the deck of a ship. which is x m above the water level, observes the angle of efevation of the top

of a hill as 60° and the angle of deprazsion of the base of the hill az 307 If the height of the hill isvm, thenx 1y =7

Options :
1 ®» 1:2

s = 1:3+3

4 ¢ 1:4

Question Number : 40 Question Id : 3932112056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If cosec 8 —cot 8 = %, 0°< 8<90°, then what is the value of 3sec8 + 4 sinf ?

Options :
g 1
1
9 L
2 ®
o ® 10
4 % 9
Feasoning and General Intelligence
Section Id : 39321168
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 27
Number of Questions to be attempted: 27
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No gcol le gEd unias
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Sub-Section Id: 393211184
Question Shuffling Allowed : Yes

Question Id : 3932112057 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (41 to 45)
Juestion Label : Comprehension

The criteria for selecting a student for admission into a medical
course are given as follows.

The candidate:

1. must have passed Class 12 Science examination with at least
65% marks.

2. must have secured more than 55% marks in the written test.

3. must not be less than 18 years and more than 24 years of age
as on 1 January 2019.

4. must have secured at least 60% marks in the Biology paper in
Class 12 Science examination.

However, if a candidate fulfils all the above criteria EXCEPT:

a. (2) and (3), but belongs to the SC community and has
secured more than 65% marks in the Biology paper in
Class 12 Science examination, his/her case is to be referred
to the Principal of the college.

b. (3) and (4), but is a girl with more than 60% marks in the
written test, his/her case is to be referred to the Chairman
of the Admissions Committee.

Based on the criteria given and without assuming any additional
information, you have to a take a decision for the candidates
whose profiles have been given in the below questions. Mark your
answer by choosing the appropriate alternative in each case.

Sub questions

Question Number : 41 Question Id : 3932112058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Nitin was born in 2000 and passed his Class 12 Science

with 65% marks in the aggregate and 62% marks in
Biology. He scored 58% marks in the written test. What

decision would be taken in his case?
Options :
1 « He is to be admitted.

- % He is not to be admitted.

.
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His case is to be referred to the Principal of the

5 % college.

His case i3 to be referred to the Chairman of the

4 % Admissions Committee.

Question Number : 42 Question Id : 3932112059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Priva passed her Class 12 Science examination with 65%

marks in the year 2017 at the age of 19 years, scored
65% marks in the Biology paper and 55% in the written
test. What decision would be taken in case of Priva?

Options :
1 #% She is to be admitted.

> « She is not to be admitted.

Her case is to be referred to the Principal of the

- % college.

Her case is to be referred to the Chairman of the

4 % Admissions Commitiee.

Question Number : 43 Question Id : 3932112060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Vikash, an SC candidate. passed his Class 12 Science

examination at the age of 18 years in the year 2017, with
65% marks in the aggregate as well as in the Biology
paper. He scored 56% marks in the written test. What

decision would be taken in case of Vikash?
Options :
1 « He is to be admitted.

- % He is not to be admitted.

His case is to be referred to the Principal of the

5 % college.

.
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His case 15 to be referred to the Chairman of the

4 % Admissions Commifiee.

Question Number : 44 Question Id : 3932112061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Ankita, an SC girl. passed her Class 12 science

examination at the age of 20 in the year 2016 with
65% marks. She scored 67% in the Biology paper
and 55% marks in the written test. What decision
would be taken for Ankita?

Options :
1 #% She is to be admitted.

> % She is not to be admitted.

Her case is to be referred to the Principal of the

5 o college.

Her case is to be referred to the Chairman of the

4 % Admissions Committee.

Question Number : 45 Question Id : 3932112062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Harshita was born in an SC family in a rural area in

1994. She passed her Class 12 Science examination in
2017 securing 65% marks in the aggregate as well as in
the Biology paper. She scored 62% marks in the written

test. What decision would be taken in her case?
Options :
1 #% She is to be admitted.

She is not to be admitted.

M
%

Her case is to be referred to the Principal of the

college.

Her case is to be referred to the Chairman of the
4 « Admissions Commitiee.

.
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Sub-Section Number: 2
Sub-Section Id: 393211185
Question Shuffling Allowed : Yes

Question Id : 3932112063 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 47)
uestion Lateal Comprehension

A team of five is to be selected from among five boys, A, B, C, D and
E. and four girls, P, Q. R and S, such that there are at least two boys in
the team and it meets the following criteria:

i. B and R have to be put together.

ii. D and Q cannot go together.

i1i. C cannot be put with E.

iv. E and S have to be put together.

Sub questions

Question Number : 46 Question Id : 3932112064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following teams can be formed?

Options :
, % ABPCS

» x BCPEQ

- « BEDSR

, » BQCDR

Question Number : 47 Question Id : 3932112065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following teams CANNOT be formed?

Options :
, % ABERS
- % BCDRP

5 % ABDRP

4 « CDESQ

Sub-Section Number: 3 QCO lle ged unias
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Question Shuffling Allowed : Yes

Question Number : 48 Question Id : 3932112066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Three girls. A. B and C, and three boys, E, T and G, are sitting around a round table facing the centre and at equal

distance from each other. No two girls are sitting next o each other. A 15 opposite D and C 15 between F and D. B 15 to
the lefl of E. Who is sitting between A amd B?
Options :

1.« E

2_%1:

1]
®
v

o=
#
3

Question Number : 49 Question Id : 3932112067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Among five objects. D iz twice as heavy as A. E iz one and a half times as heavy az B. B is one and a half times as

heavy as A, C 15 half as heavy as E. Which object is the lightest of them all?
Options :
1 ® A

Question Number : 50 Question Id : 3932112068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

B i5 the grandson of A, who has two sons and a danghter. G is the sister of Dy, whose brother is C. H is the davghter of
G, and E Is the sister of B. F is mamed to A and is the mother of C. How is A related to H?

Options :

, % Maternal grandmother

- » Grand-daughter
5  Maternal grandfather

4 % Uncle

.
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Question Number : 51 Question Id : 3932112069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Two staternents are given, followed by bwo comclustons mombered T and 17, Assuming the statements o be e even il

thew szem to be af variance with commenly known facts, decide which of the conclusions lozically followis) from the

gil.n..':n slatermenls.

Sratements:
1. Mo flower iz a finit.

2. Mo fit is an orange.

Conclusions:

[ Mo flower is an orangs.

II. Some oranges are fiits,
Options :
, = Only conclusion I follows.

> % Only conclusion II follows.

= % DBoth conclusions I and II follow.

4 « Neither conclusion I nor IT follows.

Question Number : 52 Question Id : 3932112070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Two statements are given. followed by four conclusions mumbered I to IV, Assuming the statements to be true even if

they seem to be at varance with commeonly known facts. decide which of the conclusions logically follow(s) from the
given statements.

Stalemenis:
1. Some trucks are vehicles.

2, All vehieles are maotors,

Conclusions:
I. Some trucks are motors.
II. All motors are vehicles.
II1. Some motors are trucks.

I'V. Some vehicles are motors.
Options :
, % Only conclusions I and II follow.

> % Only conclusions II, IIT and IV follow.

.
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5 o Only conclusions I. ITT and IV follow.

4 % All the conclusions follow.

Question Number : 53 Question Id : 3932112071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Three statements are given, followed by four conclusions numbered I to IV, Assuming the statements to be true even if
they seem to be at varance with commenly known facts. decide which of the conelusions lomeally follosas) fromn the
Eivan statements.

Statements:
All meangoes are fmuts.
Some mangoes are apples.

Some apples are sweats

Conclusions:
I. Some swests are mangoes.
II. Some apples are fmits.
I No sweet 15 & Mango.
I'v. o apple is a fruit.
Options :
, % Only conclusions I and III follow.

- % Either conclusion I or IIT follows.

5 of Only conclusion II and either I or ITI follow.

4 % Either conclusion II or IV and either I or III follow.

Question Number : 54 Question Id : 3932112072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A question is given, followed by two arguments numbered I and II. Decide which of the arguments is strong with
respect to the question.

Question:

Should the examination pattern in the terminal class of high school be changed?

Arguments:
I. No. The examination pattern is in vogue for years and is acceptable to the students.

II. Yes. The present examination pattern is heavily oriented to measure memory skills of students.

Options : g collegedunia:
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« Only argument I is strong.

o  Only argument IT is strong.

« Both arguments I and II are strong.

» Neither argument I nor II is strong.

Question Number : 55 Question Id : 3932112073 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A statement 15 given. followed by two assumptions numbered I and I1. Decide which of the assumptions is implicit in

(he staternent,

Statement:

Internet addiction 15 cumrently labelled as a mental disorder, as the members of the e-society are offen socially isolated.

Assumptions:

[, Imternet communication is devoid of emotional interaction among human beings.

II. Persons working on the Internet are often found to be emotionally imbalanced.
Options :

; « Only assumption I is implicit.

> % Only assumption II is implicit.

- » Both assumptions I and IT are implicit.

4 w Neither assumption I nor II is implicit.

Question Number : 56 Question Id : 3932112074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A guestion is given, followed by two statements labelled I and II, each containing some information, Decide which of

the statements is/are sufficient/necessary to answer the question.

Duestion:

How is D related to A7

Statements
I. D isthe son of A's father’s brother.
II. D is the father of A’s mother s sister.

Options : g collegedunias
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1 % Statement I alone is sufficient.
- % Statement IT alone is sufficient.
= « Either statement I alone or statement II alone is sufficient.

4 = Both statements I and II together are necessary.

Question Number : 57 Question Id : 3932112075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A guestion 15 given. followed by two statements labelled I and 11, cach containing some information. Decide which of

the statermnents 1s'are suflicient mecessary o answer the guestion.

Question:

A B, C, D Eand F are simting around a round table facing the centre and at equal distance from each other such that E
15 opposite C. B. who 15 to the inmediate left of C. 15 opposite F. Who 15 to the immediate left of E?

Statements
1. I3is betwesn O and F.

[1. A is secomd o the left of C.
Options :
1 % Statement I alone is sufficient.

» % Statement IT alone is sufficient.
= « Either statement I alone or statement II alone is sufficient.

4 = Both statements I and II together are necessary.

Question Number : 58 Question Id : 3932112076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A guestion 1s given, Tollowed by two statements labelled T and I1, each containing some information. Decide which of

the starernents 15/are sufficient/mecassary o angwer the quesnon.

Question:

Among five objects, B, Q, B. 5 and T, R is half as heavy as T. T is one and a half times as heavy as Q. Q is heavier than

P. Which object 1s the heaviest of all?

Statements:

I. S istwice as heavv as P,

II. Both P and % topether are twice as heavy as (.
Options : g collegedunias



1 % Statement I alone is sufficient.
- % Statement IT alone is sufficient.
= % Either statement I alone or statement II alone is sufficient.

4  Both statements I and II together are necessary.

Question Number : 59 Question Id : 3932112077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A guestion is given, followed by two statements labelled I and 11, each containing some information. Decide which of

the statements 15/are sufficient/necessary to answer the question.

Duestion:
In a row, Q is exactly in the middle of P and . What exactly is the position of () from the left?

Statements:

I Pis 13" from the left and 17 from the right.
I1. There are seven persons between P and R,

Options :
1 #% Statement I alone is sufficient.

> % Statement II alone is sufficient.
= % Either statement I alone or statement II alone is sufficient.

4 o Both the statements I and II are necessary.

Question Number : 60 Question Id : 3932112078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A question is given, followed by two statements [abelled T and 11, each containimg some information. Decide which of

the statements isfare sufficient necessary to answet the guestion.

Question:
The ratio of the prices of two different bikes, A and B 15 5:3. What would be the price of bike A if discounts of 12% and
[ 5% are given on bike A and bike B, respectivehy?

Statementy:

I. A discount of ¥ 8,640 iz given on bike B.
1. The difference between the discounts on the two bikes is T G,
Options :

1 % Statement I alone is sufficient. gcollegeduniag



» % Statement IT alone is sufficient.
= « Either statement I alone or statement II alone is sufficient.

, w Both statements I and II together are necessary.

Question Number : 61 Question Id : 3932112079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following Venn diagrams best illustrates the relationship among the following classes?

Teachers. Authors, Males

Options :

Bk

flg "%

QD
@

. &
(@

Sub-Section Number: 4
Sub-Section Id: 393211187
Question Shuffling Allowed : Yes

Question Id : 3932112080 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (62 to 63)
Cestion Label COI‘H}JI"EHEHSiOH

.
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In the diagram given, the triangle stands for ‘rich’, the rectangle
stands for ‘villagers’, the circle stands for ‘literates” and the square
stands for ‘businessmen’. The numbers in different segments
represent the number of persons in each segment.

10 +— Businessmen

Literates — "'/#H_I-i‘-\\

Al AN

12 k? 3!5 \45) 13 +—Wlllagers

Sub questions

Question Number : 62 Question Id : 3932112081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
How many literate businessmen are villagers?

Options :
1 ® o

o R 10
z ¢ 13

g4 14

Question Number : 63 Question Id : 3932112082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
How many literate villagers are businessmen but NOT

rich?
Options :
1.4 7
- R 0

ST ] 10

Sub-Section Number: 5 ” d .
Sub-Section Id: 393211188 £e ege i
Question Shuffling Allowed : Yes ~



Question Number : 64 Question Id : 3932112083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which two signs should be interchanged in the following equation to make it correct?

24+12+-6-3=4=14

Options :

1 #% Xand+
> % —and-+
2 o +Tand -+
4 % —and *

Question Number : 65 Question Id : 3932112084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Three statements are given, followed by three conclusions. The symbols used in them have meanings as follows:

A (@ B means A is not smaller than B.

A # B means A is not greater than B.

A & B means A is neither smaller than nor equal to B.
A % B means A is neither greater than nor equal to B.

A § B means A is neither smaller than nor greater than B.
Now read the following statements and decide which of the conclusions is/are true.
Statements:
W#Z
K&M
ZSK
Conclusions:
I M%Z
. W#M

mMmM&EW
Options :
, « Only conclusion I is true.

> w Only conclusion I is true.

% Only conclusion I1I is true.

5
.
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4 = Only conclusions I and III are true.

Question Number : 66 Question Id : 3932112085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Four statements are given, followed by three conclusions. The symbols used in them have meanings as follows:

A (@ B means A is not smaller than B.

A # B means A is not greater than B.

A & B means A is neither smaller than nor equal to B.
A % B means A is neither greater than nor equal to B.

A § B means A is neither smaller than nor greater than B.
Now read the following statements and decide which of the conclusions is/are true.
Statements:
P@R
Q#T
SSR
Q&S
Conclusions:
L. T&ER

IL. P& S
IR % Q

Options :
, % Ounly conclusion I is true.

> % Only conclusion II is true.

5 o Only conclusions I and IIT are true.

4 % All the conclusions are true.

Question Number : 67 Question Id : 3932112086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Select the figure from the options that would come next in the given series.

ol 2)E]

Options : .
collegedunias
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1 ®
=]
o # L—
[E]
3 ¥ —
[E=]
4 % l—

Question Number : 68 Question Id : 3932112087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Select the figure from the options that would come next in the given series.

NI =]

Options :

| ¥ ”T
[
[
[

Question Number : 69 Question Id : 3932112088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Three of the following four figures are similar in a certain way and one is different. Find the odd one out.

.
gcollegedunlas
India’s largest Student Review Platform

Options :



1 ® L
> A
3.$®
4 % @

Question Number : 70 Question Id : 3932112089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Select the option that is related 1o the third fizure in the same way as the second figure is related to the first figure.

Options :

,_.
®

2%
- L]
-
=z ®
4 gcollegeduniag



Sub-Section Number: 6
Sub-Section Id: 393211189
Question Shuffling Allowed : Yes

Question Id : 3932112090 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (71 to 74)
Cestion Lakel Comprehension

Study the pie charts given below and answer the questions that
follow.

Percentage break-up of students in different disciplines in a college
Total number of students - 3600 Total number of girls - 2200

B Management B Managempn

= Arts Aty
® Commamerce # Commerce
EngineeT g Engineering

W Science W Siience

Sub questions

Question Number : 71 Question Id : 3932112091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The total number of girls who took up Arts and

Management exceeds the total number of boys who took
up Science by:

Options :
1 = 03

5> « 104
s % 106

4 % 109

Question Number : 72 Question Id : 3932112092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the ratio of the number of boys who took up Arts

and Engineering to the total number of girls who took up

Engineering and Management?

Options : I duni
1_ 'ﬁ 5 : ? ﬁiglargeestgjdeennie}:elwrllaltmarf



4 % 23:33

Question Number : 73 Question Id : 3932112093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The total number of boys who opted for Science,
Commerce and Arts is approximately how much percent
more that the total number of students who opted for
Engineering and Management?

Options :
1. 9 86

> R a2

Question Number : 74 Question Id : 3932112094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The total number of girls who opted for Engineering and
Commerce is approximately how much percent of the
total number of boys who opted for Science and Arts?

Options :
, ® 59.6
> % 68.4

5 % 69.9

4 798

Sub-Section Number: 7
Sub-Section Id: 393211190
Question Shuffling Allowed : Yes

Question Id : 3932112095 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes g

Questions : No

collegedunias
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Question Numbers : (75 to 78)
Juestion Label - Comprehension

Study the following graph and answer the questions that follow.

Exports of Tea and Coffee of a Country XYZ during five
years (in million kg)

B Son 730
700 660 _— 660
620 ’

= B0 e
P S40 525 510
= soo
E SO0
= HTea

I0G
E_ B Coffes
=i 1]

v

L)
Iol3 2014 2015 2016 2007
Years

Sub questions

Question Number : 75 Question Id : 3932112096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The number of years in which the export of coffee was

more than the average export of tea over the years, is:

Options :
1 ® 1

2&2
3 3

4 % 4

Question Number : 76 Question Id : 3932112097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The ratio of the export of coffee in 2014 and 2017

together to that of tea in 2015 and 2016 together is:
Options :

1 ® 40:39

> % 35:29

= ® 24 :23

4.4 30:29

collegedunias
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Correct Marks : 1 Wrong Marks : 0
The total exports of tea in 2013 and 2017 were
approximately how much percent more than the exports

of coffee in 20167
Options :
1 % 0648

LA

- R 65.2

5 o 66.7

4 % 68.4

Question Number : 78 Question Id : 3932112099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The total exports of coffee in 2013 and 2015 were how

much percent of the total exports of tea over all the five
years?

Options :
; % 404

5 o 418

Sub-Section Number: 8
Sub-Section Id: 393211191
Question Shuffling Allowed : Yes

Question Id : 3932112100 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (79 to 80)
Zuestion Label : Comprehension

.
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Study the following graph and answer the questions that follow.

Percentage Profit earned by companies A and B over five years

Petceatage Profit
[
¥
1
&

Faary

Income — Expenditure
Percentage profit = = X 100
Expenditure

Sub questions

Question Number : 79 Question Id : 3932112101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the income of company A in 2012 was T 39 crores.

then what was its expenditure (in  crores) in that year?

Options :
1 ® 28

> % 285

4.« 30

Question Number : 80 Question Id : 3932112102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the expenditure of company A in 2008 and 2010 was

T 12 crores and T 20 crores. respectively. then what was
the total income (in ¥ crores) of the company in these
years?

Options :
; % 428

>« 4

3 % 44.5 ,
collegedunias



Proficiency in English Language

Section Id : 39321169

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 28

Number of Questions to be attempted: 28

Section Marks: 40

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 393211192
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3932112103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Im the sentence given below four words/phrases have been underlined anid the underlined

words/phrasss are ziven as options. Identify and select the option that contains an errar:

Trade winds that constanty blow across South Pacific are responsible for the violent tropical storms <allad willy-willies.
Options :

, % that constantly blow

- « across South Pacific

5 u Aareresponsible

4 w forthe violent tropical storms

Question Number : 82 Question Id : 3932112104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the sentence given below four words/phrases have been underlined and the underlined

words/phrases are given as options. Identify and select the option that contains an error:

Tourism has been slow in developing in the Pacific due to long travel distances and shortage of modern hotels.
Options :
1 % has been slow

» in developing .
£ gcollegedunlag
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= % in the Pacific

4 % dueto

Question Number : 83 Question Id : 3932112105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the sentence given below four words/phrases have been underlined and the underlined words/phrases are given as

options. Identify and select the option fat? confains an ervor:

Banks use codes and ciphers o keep financial deals private while spies or eriminals vse them 1o gvoid capture.
Options :
1 % Banks use codes

5 u tokeep

3 o while spies or criminals

4 = toavoid capture

Question Number : 84 Question Id : 3932112106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the sentence given below four words/phrases have been underlined and the underlined

words/phrases are given as options. Identify and select the option thaf contains an error:

Ecologists consider all the organisms that lives in one area as an inter-dependent community.

Options :

, w Ecologists consider

- % all the organisms

5 o that lives

4 % inone area

Question Number : 85 Question Id : 3932112107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the sentence given below four words/phrases have been underlined and the underlined
words/phrases are given as options. Identify and select the option that contains an error:

Anime is an art form having distinctive production methods and techniques that have 3= ~*-=*-~ -~ *—¢
collegedunias
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1 % 1s an art form

» having distinctive production methods

% « that have been

« adapted over time

Question Number : 86 Question Id : 3932112108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate option.

Prior to the digital era, anime was produced traditional animation methods.
Options :
1 % from

o ® b}"
= « With

4 % of

Question Number : 87 Question Id : 3932112109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate option.

Tornadoes are violently columns of air that extend from a thunderstorm to the ground.

Options :

, « lotating

- % rotated
s ® rotate

4 % rotates

Question Number : 88 Question Id : 3932112110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate option.
gcollegedunias

Sana is beautiful, everybody dislikes her. -



Options :

, % Inspiteof

-  Although

- w Despite

4 % Evenif

Question Number : 89 Question Id : 3932112111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate option.

My vegetable patch looks terrible this summer. There are weeds.

Options :
1 % little

> % much

5 ® most

w» nany

Question Number : 90 Question Id : 3932112112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate option.

My parents got angry me when I asked them for an iPhone last week.

Options :
1 = at

5> #% on
3 o Wwith

4 in

Question Number : 91 Question Id : 3932112113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

gcollegedunias
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Fill in the blank with the most appropriate option.

I my lessons when my mother walked into the room.
Options :
1 % would revise

> % revised

5 « Was revising

4 % amrevising

Question Number : 92 Question Id : 3932112114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate option.

Nitesh ran fast his legs were hurting.
Options :

, « eventhough

- % because
5 # evenif

4 w inspite of

Question Number : 93 Question Id : 3932112115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate option.

Do vou think the diamond merchant who made off with money will get caught?
Options :

1 % some

> o the

z % alittle

4 % No article

gcollegedunias
Question Number : 94 Question Id : 3932112116 Question Type : MCQ Option Shuffling : Yes Display Indias largest Student Review Platform
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
Identify and select the option that best gives the meaning of the underlined word:

Succulents are plants that have some parts which are thicker and fleshier than normal.

Options :
1 % mnatural

> #® rare
= % habitual

4 « usual

Question Number : 95 Question Id : 3932112117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify and select the option that best gives the meaning of the underlined word:

Succulents have low water needs and can thrive on limited sources like mist and dew.
Options :
1 % succeed

~ « flourish
=z % bloom

4 % deteriorate

Question Number : 96 Question Id : 3932112118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify and select the option that best gives the meaning of the underlined phrase:

Succulents on the whole have care needs that are very similar.

Options :

, « ingeneral

- w primarily

5 w globally

4 = inparticular

.
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Question Number : 97 Question Id : 3932112119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify and select the option that best gives the meaning of the underlined phrase:

Kevin was already angry. By teasing him his friends added fuel to the fire.
Options :

, w Ppoured kerosene on a fire

- w improved a bad situation

5 w turned a happy moment into a sad one

4 + made a bad situation worse

Question Number : 98 Question Id : 3932112120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify and select the word that best completes the sentence:

Young learners need a firm in oracy skills before they can become proficient readers and writers of any
language.
Options :

, % ground

> % examination
z « foundation

4 % basement

Question Number : 99 Question Id : 3932112121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify and select the word that best completes the sentence:

Stitches and staples due to surgery are unsightly and to infection.

Options :
1« prone

> % stretched out

%z % inclined

.
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4 u likely

Question Number : 100 Question Id : 3932112122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identifi and select the word that best completes the sentence:

There i3 a crisis in the educarion sector - for example, many countries are expetiencingan  shortage of primary
school teachers.

Options :

1 % obsolete

> o acute
= % ‘ufter

4 % extra

Question Number : 101 Question Id : 3932112123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify and select the word that best completes the sentence;

Providing children quiet. time is just as important as purposeful activity for a child.

Options :
1 ® retreat

> % relaxed
3 o reflective

4 % reflexive

Question Number : 102 Question Id : 3932112124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Given below are five sentences, labelled A, B, C. D and E They are not in a meaningful order, Choose from the options
aiven helow the otder which will make them into a4 meaningtul paragraph:

AL Throughout history, people have created colour using natural dves and pigments.
B. Dwves and paints are substances that are used o stain or give colour to o large range of objects.

C. Pigments, which form the colour in paints, are held in place by a vamish-like substance which binds the pigment
1o the surface being painted.

D. The substances that give colour to dyves are called dyestutts. gco“ egedunias

E. These when dissolved in water penetrate the fibres of fabrics by means of a chemical reatuvu



Options :
, « BAE,C,D

. « B,C,D,E,A

2 ¢ ABDEC

4 % ABCDE

Question Number : 103 Question Id : 3932112125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Given below are five sentences, labelled A, B. C, D and E. They are not in a meaningful order. Choose from the options
given balow the order which will make them mto a meanmgful paragraph:
A Penguins rely on their watsrproot teathers for warmih; therefors, losing his feathers made Pierre unwilling o
jump in the penguin tank.

B. This is because Pierre iz losing his feathers: he i soing bald, especially aronnd his botrom.
C. However, Pierre. the jackass pengnin, who lives at the California Academy of sciences, dislikes the wet stuff.
T3, It is & fact that penguins switn in the water and generally enjov themselves inwet conditions.

E. He stands shivering beside the penguin tank,

Options :
, ¢ DICE,B A

o & DC,B. AR
3 ® A. B EC.D

. % ABDE.C

Question Number : 104 Question Id : 3932112126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Given below are five sentences, labelled A, B, C. D and E. They are not in a meaningfinl order. Choose from the options
given below the order which will make them inro a meaningfl paragraph:

A, That's because, a3 rain falls it gathers up anv polletion that is in the air,

B. Rain seems to make things cleaner. doesn’t it, besides helping plants grow?
. But rain can make things disty,

D, That's why it leaves cars looking streaky and windows looking spotty,

E. It helps flowers bloom, makes roads look shiny and leaves a fresh smell in the air.

Options : g collegedunias
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, « B.E.C,D,A
%« B,C,AD,E

2 ¢ B.EEC,AD

« B.C.D,E. A

Question Number : 105 Question Id : 3932112127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Given below are five sentences, labelled A, B, C, D and E. They are not in a meaningful order. Choose from the options

mivan below the order which will make them into a mesningfil paragraph:

A, Om the contrary, thev can also have fallen deeply in love with that thing.
B. 1 helieve a narion tod 18 born 1o excel in some things.
C. Some things come naturally, as 17 we're borm o do them.
D). As a people, they're not merely gifted in something thart is quite opposed to their past expetience.
E. Some people are born mathematicians, others musicians, dancers or phifosophers.
Options :
| ® Eq. {:'. B-_ Ad.L-_ D
5> # B.A C.E D

s ¢ GEBDA

4 % DA BCE
Sub-Section Number: 2
Sub-Section Id: 393211193
Question Shuffling Allowed : Yes

Question Id : 3932112128 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (106 to 110)
Cuestion Lakel COITlpI'EhEﬂSiOﬂ
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Hyvdrogen Cars

It may feel like the electric car has been crowned the future of
transportation. Aute companies have plans to make more ¢lectric
car models, and sales — still only a tiny fraction of the overall
market — are expectad to pet a boost as more countries pass
regulations to reduce carbon emissions. But Japan isn't sure that
the battery electric car is the only [uture, and it's betting big on
something it says makes more sense in big cities: hydrogen fuel
cell vehicles.

A hvdrogen fuel cell deesn't burn anything, It uses a chemical
reaction berween the hvdrogen and the oxygen from the air o
produce electricify. Hydrogen fuel cell cars are quiet, like battery
electric ones. and they emit only water. Only about 11,000 fiel
cell vehicles are on the road worldwide. Nearly half of them are in
Califormia, which has stringent vehicle emmission regulations and
tax credits that incentivise electric and fusl cell vehicles.

Japan has embraced the technology and aims to create the first
"hydrogen society,” which also includes the use of hydrogen for
power generation. The energy ministry has ambitions targets in the
lead-up to the 2020 Olympics. The city of Tokyo plans to depley
100 hydrogen fuel cell buses during the games, and it wants (o
have 40,000 tuel call elactric vehicles on the road, with a longer-
term zoal of 200,000 such vehicles in the next six vears.

Today there are far more battery electric vehicles on the road than
hydrogen cars. But, in countries like Fapan, where much of the
population lives in dense wrban arsas, many people live in
apartment buildings without a place o easily charge a car. It's here
where companies like Tovola are banking on the convenience of
hydrogen fuel cells. Meanwhile, Japan is investing heavily to
create the infrastrchue needad o promote hydrogen vehicles. It is
touzh to sell a hydrogen car without a lot of places to fill it up. But
withowl more cars on the road, such fueling stations are not a smart
investment for private companies.

So the Japanese government has stepped in with subsidies. The
country, along with private companies like Tovota, has helped
build and operate 100 hydrogen fueling stations so far. JTapan haz a
targel of 900 by 2030, By then, Tovola hopes there will be enough
hydrogen vehicles to make the stations profitable.

Another advantage of hydrogen could be reducing Japan's heavy
reliance on Middle East oil. Hydrogen is abundant, and the fuel
could be produced amywhere. But producing hydrogen fuel is itself
energy intensive, and — just as with battery electric vehicles — 1t
might be produced using natural gas or coal.

Source: https.www.npr.org/3019/03/18/70087 7189/ japan-is-
betting-big-on-the-fulure-ol-hydrogen-cars
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Sub questions

Question Number : 106 Question Id : 3932112129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The main aim of the passage is to:
Options :
extol Japan’s measures to promote hydrogen-fueled

1 ® cars

weigh the pros and cons of battery-operated and
- % hydrogen-fueled cars
highlight the advantages of moving to hydrogen-

- o fueled cars from battery-operated ones

promote the use of hydrogen power cars over electric

4 % cars

Question Number : 107 Question Id : 3932112130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a reason for hydrogen

cars to be promoted?

Options :

, w they have no toxic emissions

> w they run noiselessly

- % hydrogen is abundant and can be produced anywhere

4  they run on hydrogen from power stations

Question Number : 108 Question Id : 3932112131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The writer notes that both, hvdrogen cars and electric
cars:

Options :

, % need to be supported by fueling or charging stations

. are equallv in demand by car owners .
&% Gt ? collegedunias



- « are non-polluting as they emit only water

4 w areused by people who live in apartment buildings

Question Number : 109 Question Id : 3932112132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A DISADVANTAGE of hydrogen cars implied by the
writer is that:
Options :

, « global demand for hydrogen exceeds its production

- % hydrogen can be produced only by burning fuel

private companies have resisted producing them in

5 % Japan

hydrogen fueling stations are polluting the

4 % Aatmosphere

Question Number : 110 Question Id : 3932112133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Japan has taken all of the following measures to

promote the use of hydrogen EXCEPT:
Options :

, % use hydrogen-fuelled buses for the Tokyo Olympics

- % promote use of hydrogen in power generation

build supporting infrastructure for hydrogen-based

= # vehicles

4 « increase taxes on non-hydrogen and electric cars

Sub-Section Number: 3
Sub-Section Id: 393211194
Question Shuffling Allowed : Yes

Question Id : 3932112134 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes gcollegeduniag

Questions : No
Question Numbers : (111 to 115)
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Cities Are Growing Out Rather than Up

While cities growing vertically through taller buildings are located
predominantly in wealthier cities in North America, Europe and East
Asia, cities in sub-Saharan Africa and South Asia are growing mainly
outward. These cities have the fewest financial resources to manage
their growth but are expected to hold more than 2 billion additional
people by 2050.

Failure to properly manage expanding land area not only exacerbates
urban inequality, it also contributes to greater economic and
environmental risk for the city. From Mumbai to Mexico City. it is all-
too-common to see crowded slums grow larger and denser next to
unaffordable, often vacant, high-rise developments. As municipal
service networks fail to keep pace with urban growth, resource-
constrained cities tend to react to development trends instead of having
land development agencies proactively plan for growth.

Some of the implications of this unmanaged growth include:

Greater Inequality: Like Lagos, many cities are already struggling
with existing inequalities, inadequate service provision and stretched
municipal capacities. Unmanaged land expansion exacerbates these
struggles. Lower-income families typically move to a city’s periphery
in search of affordable housing. Yet the further they get from the city
center, the more difficult their lives can become. ..

Economic Stresses for the City as a Whole: Research shows that as
cities expand outward and population densities decline, the municipal
costs of providing public services increase. In Indian and African
cities, services like paved roads, drainage and piped water drop off
sharply just 5 kilometers (3 miles) from the city.

Environmental Problems: Globally. the rate of urban land growth far
outpaces population growth. This ofien comes at a cost to prime
agricultural land, ecosystem services and biodiversity, which all
contribute to food production and climate resilience. Already, we are
seeing some of the fastest-growing urban areas in low-elevation
coastal zones, flood plains, biodiversity hotspots and water-stressed
areas.

These impacts are compounded by the fact that most outward growth
currently underway in Africa and South Asia is unplanned and
informal, or in locations where existing urban land use regulations do
not apply. Some of this expansion is outside of cities’ control,
considering natural population increases and people migrating from
rural to urban areas in search of economic opportunities. But other
challenges are things cities can more proactively manage.

Though a daunting challenge, some cities are already using innovative
approaches to prioritize accessibility and manage urban expansion.
Cities in Mexico, Brazil and South Africa are directing new
development to already well-serviced and connected areas, instead of
spreading outwards. Cities in Colombia, South Korea and India have
been incrementally adding new land in well-connected and serviced
locations by partnering with public utilities and private companies to
help with financing. Many cities are also working with communities
in informal settlements to create affordable density with more flexible
planning standards and upgrading efforts.

.
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Sub questions

Question Number : 111 Question Id : 3932112135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The central idea in the passage is that urban expansion

needs to:
Options :
be properly planned and supported to ensure easier

» accessibility
» conform to the pattern set by Europe and the US
» ensure slums and expensive housing co-exist

w follow traditional indigenous development patterns

Question Number : 112 Question Id : 3932112136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The growth of cities in Africa and South Asia is NOT

characterised by:

Options :
the growth of densely populated slums adjacent to

expensive housing

,_.
4

a physical expansion city areas rather than upward
. growth

unplanned or informal growth in areas which have no
land regulation

W
%

an expansion in municipal services to serve the

» growing urban population

Question Number : 113 Question Id : 3932112137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the second paragraph the writer recommends that

governments must:

Options :
« restrict the inflow of poor migrants into cities g collegedunias
India’s largest Student Review Platform
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limit the growth of slums in the vicinity of expensive
- % urban property
plan ahead on providing services to future urban

5  Dopulations

provide more low-cost housing in place of the

4 % expanding slums

Question Number : 114 Question Id : 3932112138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
According to the writer, the spread of city areas has

increased environmental risks by:
Options :

, % Traising air pollution levels above desirable limits

- » Dplacing stress on ecologically sensitive areas

increasing traffic congestion in the central business

dreas

i
b

outpacing population growth in most developing

4 « countries

Question Number : 115 Question Id : 3932112139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Some cities are tackling their haphazard urban expansion

by:
Options :
developing suburbs to absorb the overflow of

, % Ppopulation

promoting areas with good accessibility and civic

5 o Services

incentivizing private companies to build more high-

= % Trises

.
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financing public transport and services to

4 % overcrowded locations

Sub-Section Number: 4
Sub-Section Id: 393211195
Question Shuffling Allowed : Yes

Question Id : 3932112140 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No
Question Numbers : (116 to 120)
Cuestion Latbel COI‘I‘lpI"EhEI'lSiOH
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Lerw

The mvention of B sere was g hugsly sierofcenl mathemnaticad
development, one that is fndamental to caloulaz, which made
phivsics, engin2ering and timch of modam techaology possible,
Byt what was if abowd Idizn culfure that gove rise (o this
creation that®s so important to modem India — and the modem
wnrld?

Indians, nalike people from many other culhwes, were already
philosophdcelly open fo the concept of nolhingness. Systemns
such a= voga were developed fo cnocourape meditation end the
cmpiying of the mind, while both the BEuddhist and Hindo
religions embrace the concept of nothingmess as parl of their
lewchingrs,

In =ddition, the nation has long hed e fascinafion with
sophisticared mathematics, Eatly Indian mathernaticians wars
chstsed with pranl oumbers, counting well o e tallions
when e Ancienl Greeks sloppsd al aboul 10,000, They even
had different fypes of infinity.

Hindu astronomers and mathematicians Aryabhatz, born in 475,
and Brabepazupla, bomm in 588, wre bolh popolarly believed w
have been the Grst (o fomally describe e modem decmnal place
value system and present mules governing the uvse ol the zem
symbol. Although Cwalior has lohg been thought to be the site of
the first cccurence of the zero wrillen as a cocle, an ancient
Indizm serell called he Bhakshali roemoscripl, which shows a
placeholder dot symbal, was recentty carbon dated to the 3nd or
4 cenniries, It iz now  congidered the earliest recorded
pecnrrence of zara,

Marces du Sautov, professor of mathematics at the Undversty of
Creford, iz quoted on the umiversity's website as saving. “[T]he
creation of 7ern Az & number in its own right, which evolved
from the placebolder det symbol found in the Bhakshali
manuscript, was ong of the sreatest breekibrouehs in the history
of mathematics. We now kmoear that it was as carly as the 3rd
Cenmry that mathematicians in India planted the seed of the iden
(bat would laler become so fundaneodal b e modemn world,
The [ndmes show how vibrunl mathematics have been m e
Indian suh-contineat for cenmries.”

But equaliv inferesting are the r2asons a5 fo why the zere wasnt
developod clzewhere, Althouch the Mayans and Bebwlonians
(A miany ather civilizationsy may hase had a concept of 7ero as
a placehelder, the iden iz not knowam e have developed as a
mizmber 1 be wsad in mathematics anyahers else, One theory is
fhat some culbwes hed a pegative view ol the concept of
nothingness. For example, there was a time in the carly days of
Christianity in Ewrope when religions leaders banned the nse of
zere becouse Lhey Gl thal, since God 15 moevervibing, a symbicl
(hal represenled nolhing mus! be satame.

Lo mevbe there is something to these connected ideas, to the
spirifual wisdom of India that gave sise o medilation asd e
invenlion of zero, There™s anolber commecied e, foo, whicl has
bad a prolound efect oo e modern world, The concepd of ze1o
is azzential to a system that's af the basgis of modem compuring:
binary numbers,
Sowcehitpasvenw b cornravel story 201 30RO T -how-india-
zave-us-the-zeoro)
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Sub questions

Question Number : 116 Question Id : 3932112141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following was NOT benefitted by the
invention of the zero?

Options :

, % the modern decimal system

-~ % modern computing

- » engineering and modern technology

4  thehistory of mathematics

Question Number : 117 Question Id : 3932112142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The main point of the passage is to:

Options :
expound why it was the Indians who first used the

1 « Zzero in mathematics

> w praise the Indians for the invention of the zero

critique the role of religion in the progress of
mathematics

A
®

enumerate the importance of the zero to modern

4 % mathematics

Question Number : 118 Question Id : 3932112143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following does the writer NOT attribute to

India’s invention of the zero?
Options :
Christianity’s negative atfitude towards the use of the

1 ® Zero

religious restrictions in ancient cultures like the
. » Babylonians g collegedunias
& India’s largest Student Review Platform



-  the advanced state of mathematics study in India
the importance of the concept of ‘nothingness’ in

4 % Indian religions and practices

Question Number : 119 Question Id : 3932112144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
We can conclude from the passage that the

Options :
zero was developed by the Mayans. but not applied

1 % in mathematics

Babylonians were not as advanced as the Hindus and
Buddhists

P
®

ancient Indian mathematicians were most advanced

5 « for their time

Indians were responsible for the invention of modern

computing

Question Number : 120 Question Id : 3932112145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The importance of the Bhakshali manuscript is that
it
Options :
described how early mathematicians worked with

. giant numbers

demonstrated how the zero was the biggest
breakthrough in mathematics

showed how the zero was fundamental to the study

of mathematics

i
b

accurately dated the first use of the zero in India as

4  thethird century
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Design

Group Number : 2

Group Id : 39321120
Group Maximum Duration : 90
Group Minimum Duration : 90
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 60

spatial Ability and Visualization Skills

Section Id : 39321170

Section Number : 1

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 393211196
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 3932112146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Gestalt law of proximity states that
Options :
, « things that are near each other seem to be grouped together

> w When things appear to be similar to each other we group them together

- » things are grouped together if they seem to complete some entity

I

elements that are arranged on a line or curve are perceived to be more related than elements not on the line or curve

Question Number : 122 Question Id : 3932112147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following types of models fits the explanation The more you know, the more you see’?
Options :

1 % Condensed model

.
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5 of Huxley-Lester model

= % Displaced model

4 % Iconic model

Question Number : 123 Question Id : 3932112148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The term ‘mmemonic’ is related to:
Options :

1 % alternative comumunication

> % human project

5  Memory

, % personal understanding of information

Question Number : 124 Question Id : 3932112149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is another name for ‘formal balance’?
Options :

. « Symmetrical balance

- % Radial balance
= % Geometric balance

4 % Informal balance

Question Number : 125 Question Id : 3932112150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is movement?
Options :

, « The path along which the viewer’s eyes move usually to an area of emphasis of focus.

i

-~ w TIhe relationship between objects with respect to size.

- % [Iherepeated use of similar elements and visual effects. .
- collegedunias
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4 # Thecombination of different elements of design.

Question Number : 126 Question Id : 3932112151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The term ‘semiotics’ is related to:
Options :

, « sign, symbol and signification

% album, photo and print

2
5 » texture, design and value
4 = software, system and semester

Question Number : 127 Question Id : 3932112152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Graphic design is a process of:
Options :

, = typing and editing on a keyboard

5 w Wwriting

- » using Photoshop and layouts

4 « visual communication

Question Number : 128 Question Id : 3932112153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following lights have the shortest wavelength?

Options :
1 % Red and blue

- % Violet and red
= « Blue and violet

4 » Yellow and orange

.
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Question Number : 129 Question Id : 3932112154 Question Type : MCQ Option Shuffling : Yes Displ:
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

The negative and positive spaces work with or against each other to produce:
Options :

, w planning and strategy of gaming

- « harmony or dynamic tension

= % nature of brush

4 = price and importance of art work

Question Number : 130 Question Id : 3932112155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a theory of visual communication?
Options :

1 % Constructivism

- u Gestalt theory

5  Urbane Phillips theory

, = Ecological theory

Question Number : 131 Question Id : 3932112156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
theory helps to understand exactly how certain visual cues are noticed and how others are not noticed.

Options :
1 « Constructivism

> u Ecological

= % Semiotics

4  Omniphasism

Question Number : 132 Question Id : 3932112157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is an orthographic view?

Options : g collegedunias
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% Symmetry view

> o Plan view

5 = Perspective view

4 # Linear view

Question Number : 133 Question Id : 3932112158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The term *having equal measurement’ is related to:
Options :

, w Orthographic view

> « Isometric view
% % Linear view

4, = Presentation of object view

Question Number : 134 Question Id : 3932112159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The term “Vanishing point” is related to:
Options :

, % drawing

> w design

5  Derspective

4, % photography

Question Number : 135 Question Id : 3932112160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Select the word that is related to the third word in the same way that the second word relates to the first word.

Photoshop : Raster :: Illustrator : ?
Options :

1« Vector .
collegedunias



- % Rashtra
z % Pixel

4 ® Bit

Question Number : 136 Question Id : 3932112161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the size of an A4 paper?

Options :
1 #% 200X 300 mm

5 o 210X 297 mm
z % 300 X 200 mm

4 % 400 X120 mm

Question Number : 137 Question Id : 3932112162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the ST unit of force?

Options :

, » Kilogram

o o Newton

5 % Jepson

4 % Millimeter

Question Number : 138 Question Id : 3932112163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the correct full form of CGS?
Options :

, « Centimetre gram second

- w Centre of gravity services

5 « Common guard supply
' gcollegeduniag



4 = Concept of gram solution

Question Number : 139 Question Id : 3932112164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following is a session tracking method?

Options :

, » Bending

- w History

3 « Cookies

4 % Word

Question Number : 140 Question Id : 3932112165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The Data Patterns tab in the BMC software allows you to

Options :
1 % Urestore

-  configure

5 % Jjump

4 % code

Chservation and Problern Solving

Section Id :

Section Number :

Section type :

Mandatory or Optional:

Number of Questions:

Number of Questions to be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

39321171
2

Online
Mandatory
20

20

20

Yes

No

1
393211197
Yes

data patterns.
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Question Number : 141 Question Id : 3932112166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the below software has a built-in face recognition system?

Options :

, % Low pro photo organizer

> u Alpha photo’s organizer

- % Partial reflection camera

4  Google’s Picasa digital image organizer

Question Number : 142 Question Id : 3932112167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following Windows systems provides good support for Adobe 64-bit?

Options :
1 ® 32 bit

> % 64 bit CALCA
= W 64 blf

4 % 32bit OCTA

Question Number : 143 Question Id : 3932112168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the correct full form of VOLTE?
Options :

, « Voice over Long Term Evolution

- u verity only Life Term Evolution

- % Vvesco oscar Tissue of Energy

4 w Viscosity of Temporary Energy

Question Number : 144 Question Id : 3932112169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
H rerlA? - " ~rFrr At 1 o )
is the world’s first cellular system to specify digital modulation and 11em-gco” egeduniar’

India’s largest Student Review Platform

Options : €



; ® MADCA
> % AMDP
5 » CDMA

4 o GSM

Question Number : 145 Question Id : 3932112170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A magquette is:

Options :
2.« 3D

Depth of photography

Bold line of light

Question Number : 146 Question Id : 3932112171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the images in the options will be formed with the below images?

(-

Options :

® | .
*x gcollegedunlag
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Question Number : 147 Question Id : 3932112172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In creative process, the preparation stage is where we prepare our to begin the journey towards the creation of a
new thing.
Options :

, % typography

> # sample

- w design

4 « brain

Question Number : 148 Question Id : 3932112173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘Who wrote the book ‘The Art of Thought*?
Options :

1 « Graham Wallas

-~ w Gomes Philippines

5 % George Liken

4 = David Ogilvy

Question Number : 149 Question Id : 3932112174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Who among the following came up with the concept of the four stages of creativity?

Options :
1 % Albert Redo

> % Graham Fernandez

- » Gomes Philippines
' gcollegedunlag



4 « Graham Wallas

Question Number : 150 Question Id : 3932112175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is the correct order of the stages of creativity?
Options :

1 Preparation, Incubation, Illumination and Verification

- % Incubation, Illumination, Verification and Preparation

o % Curation, Illustration and Formation

4 % Ilumination, Verification and Verification

Question Number : 151 Question Id : 3932112176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following approaches is opposite to the “top - down’ approach?

Options :
1 % DBottom - centre

5 o Bottom - top

- » Boftom - right

4 % DBoftom - left

Question Number : 152 Question Id : 3932112177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The *“top - down’ approach in design is related to:
Options :

, % Jjumbled words for design

- » Degative design in architecture

-  Product design

4 % typography design

collegedunias
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Question Number : 153 Question Id : 3932112178 Question Type : MCQ Option Shuffling : Yes Disple , -~ ..~ = __
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
If there is too much text or large text in the design. then it is said to be:

Options :
, w Image and text

» « Text dominated

5 w Textalignment

4 % Text column

Question Number : 154 Question Id : 3932112179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following shots is the best example of rule of thirds?

Options :

collegedunias
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Question Number : 155 Question Id : 3932112180 Question Type : MCQ Option Shuffling : Yes Displzg
Single Line Question Option : No Option Orientation : Vertical ~



Correct Marks : 1 Wrong Marks : 0
What is hue?

Options :

1 « The actual colour

> % Theactual intensity of design

= % The rational level of tone

4 % The process of colour

Question Number : 156 Question Id : 3932112181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If | inch = 72 points, then | point=7
Options :

1« 0.353 mm

> % 1.09 mm
=z % 0.300 mm

4 % 1.19 mm

Question Number : 157 Question Id : 3932112182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Serif fonts are known for their

Options :
1 % attraction

5 % cursiveness
5 » Style

» readability

Question Number : 158 Question Id : 3932112183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following design types is present on the feathers of a peacock?

Options :

1.« Patterned gcollegedunias



> w Linguistic

- w Keming

4 % Movement

Question Number : 159 Question Id : 3932112184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In design language, the word *problem’ indicates:
Options :

, % thelayout process

- » tension of the designer

-  therequirement of a client

4 w thetechnical error in design

Question Number : 160 Question Id : 3932112185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following systems divides the page into vertical and horizontal sections of equal size?

Options :

, % Design system

5  Grid system
w Printing space

=

4 = Typography system

General Awareness and Design Sensibility

Section Id : 39321172

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes g C Ol | e g e d unia:
Group All Questions: No .- e ———



Sub-Section Number: 1
Sub-Section Id: 393211198
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 3932112186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
‘Bagasse’ is the residval pulp from Tt i3 wsad in the mannfacture of particle boards as low-cost construction
material and for the furnimirs indusiry.

Options :
1 o sugarcane

- = pineapple
%z % bamboo

4 % Wheat

Question Number : 162 Question Id : 3932112187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
design meets the needs of the present without compromising the ability of future generations to meet their own
needs,
Options :
1 % Containable

> o Sustainable

5 » Changeable

4 % Amenable

Question Number : 163 Question Id : 3932112188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following activities would make your product design more environment friendly?
Options :

, w Increase the amount of material needed through part design

> % Use virgin material wherever possible

-  Source more material locally .
: collegedunias
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4 » Make complex packaging from outsourced material

Question Number : 164 Question Id : 3932112189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Tdentity the stage within the five-stage design thinking process where the designer conduets research to develop a
deeper understanding of vsers.

Options :

T Prototype

> % Define

- % Ideate

4 « Empathise

Question Number : 165 Question Id : 3932112190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
are based heavily on user or user group behaviour patterns and are defined by studying patterns of action during
AN exXperience.
Options :
, « Archetypes

> % Apotheosis

% % Assimilations

4 = Amalgamations

Question Number : 166 Question Id : 3932112191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What type of user interface design provides the best accessibility for the visually impaired?
Options :

, % Graphic User Interface

> « Voice User Interface

=z % Command Line Interface

4 % Menu Driven Interface .
collegedunias



Question Number : 167 Question Id : 3932112192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
When user is able to understand and use a design without consciously thinking about how to do it. regardless of the

nser's experience and knowledge. it is called
Options :
1 % Reasonable

-~ w Perceptive
3 « Intuitive

4 = Equitable

Question Number : 168 Question Id : 3932112193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In which of the following kinds of desizn are products, services and environments designed keeping in mind the needs

of the widest number of consumers?
Options :

, w Independent Design

- % Interchange Design
- » Realistic Design

4 « Inclusive Design

Question Number : 169 Question Id : 3932112194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A spoon called S'up designed to reduce spillage. promote social interaction and make a wider range of food accessible
for those with cerebral palsy 15 an example of;
Options :

, « Inclusive Design

> w Equitable Design

- % Infuitive Design

4 # Informative Design

Question Number : 170 Question Id : 3932112195 Question Type : MCQ Option Shuffling : Yes Displzgﬁgl !gg%ii}:ﬂ:g m
Single Line Question Option : No Option Orientation : Vertical -



Correct Marks : 1 Wrong Marks : 0

A user interface is said to have good design when it provides good outdoors, which enhances readability and
lessens the impact of bright sunshine on the device

Options :

, w similarity

-  confrast
= % correlation

4 % unification

Question Number : 171 Question Id : 3932112196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

To achieve width responsiveness when the browser 15 between 0 px and 640 px wide, which of the following CS5 rules
should be applied?

Options :

, % Vvariable-640px.css

5 % Min-640px.css
5 max-640px.css

4 % Ccritical-640px.css

Question Number : 172 Question Id : 3932112197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A device or program that is designed to be used for multiple purposes follows which principle?

Options :

LR Responsive

-~ w Comparable
=z % Iirevocable

4 « Flexible
Question Number : 173 Question Id : 3932112198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
When a product designer offers more than one solution to help balance everyone’s need:g coIIegeduniasle
India’s largest Student Review Platform

solution may not work for all. he is demonstrating principle. =



Options :
1 « realistic

- % convenient

5 % Welcoming

4 % suitable

Question Number : 174 Question Id : 3932112199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When an image is presented as a work of art. the way people look at it is affected mainly by
Options :

, % reversible proportions

» learnt assumptions

% % sustainable values

4 % neutral schemes

Question Number : 175 Question Id : 3932112200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In visual culture, refers to ideas, ideals, beliefs and values.

Options :

, w Intertextuality

5 # Multimodality

5 o Ideology

4 % Representation

Question Number : 176 Question Id : 3932112201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In visual cwlture, how we look at imagery and the circumstances under which we look at an image 15 technically known
as

Options :

, w Gawping .
: collegedunias
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> » Gawking

- » Gaping

4 o Gazing

Question Number : 177 Question Id : 3932112202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is one of the most important art movements of the 20th century developed by Pablo Picasso and Georges

Braque in the early 1900s.
Options :
1 « Cubism

Impressionism

ra
#

=z % Realism

4 % Surrealism

Question Number : 178 Question Id : 3932112203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Jackson Pollock was a leader of which of the following art movements?

Options :
1 % Installation

» Abstract Expressionism
=z % Kinetic Art

4 % Photorealism

Question Number : 179 Question Id : 3932112204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who painted the famous *Mona Lisa’?
Options :

, % Michelangelo

> % Albrecht Diirer

.
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= « Leonardo da Vinci

4 % Rembrandt

Question Number : 180 Question Id : 3932112205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The painting by Michelangelo of the is one of the most famous frescoes in the world.

Options :
1 % Hare

8

- = water Lily
5 w Garden at Giverny

4 « Sistine Chapel ceiling

.
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